43
15
105
163

L]

44
15
106
165

N
’

HEEEH

40
15
120
175

PRTFEEKRF

3
’

2025 B AR

% YN -

.I_

A

EiR 11

SH AT
S

A e
VEHEFI—R
- BHHEEFEI—R

%A
v

i/

D

[(MA18 (&) #XR7]

EEKRIH

4a

40

A¥

i

BEE

HFEE 2

% PN -
ET4
ET4
ET4
ET4

.I.

=]

ECRRZEH

FREH
U N

REHEFPH
VEHEFI—R
REHFFH

- BHUHEI—X

L] (7K

I




[12A 68 (&) x5

IDE - BUHEI—X

. FRHEBEER
FRA % IN - HFEE BEEY
MEESRREH 15 6 6
REHEZH 5 3 3
MEHEFI—X
REHEZH 20 6 6
D - BUHE D
&t 40 15 15
. = AFIER T
FRBF % YN -| HFEEH BREH
MEESRREH HT4 0 -
NELEI—X
DE - BUHEI—X
=T 4 0 —
NEIANFRIER [
FRA % YN - HFEE 2 BHEEY
BEESARER T4 0 —
REHELH . . _
NEHZEFI—X
REHEFFH =T : :

At




[12A208 (£) %5

1.

REELER I H]

FRA

% IN -

HFEE

REHFFFH
==

DI - 1B

Bt

11

11

. AR ARAEER T H

FRA

HiFEE 2

BHER

BEE D RREH

c
b
—N-
5
=
& m




(

1.

TR 218 (k) #ER57]

— Bk A B 1S
LRAT HEAE HERE S ABER
BEE DR REH 6 3 3
REREEE
m;zzjﬁi 0 ° °
REHETH 10 1 1
DI - AT —R
&t 26 12 12
. RERERIY CXBREEDRREHOAER)
SRAH HEAE HERE S ABER
BEE U REH 5 3 2
. M= AFERLER T
SR F HEAE HEEE Y ABER
BEE U REH ET4 0 -
REHEEH ET4 0 -
1t ET4 0 -
. SAEIAFRLER TH
SR HEAE HEEE S ABER
BEE R PR ETF4 0 -
RERESR ETF4 0 -
: ET4 0 -




[ 2A 148 (£) 8%5H)
1. —fi%ERB BFE

B2 T =% B HIEE
BB SRR EH 5
*JJ%%Z =
B ERE SR 0
DI - BB D —2
5 20
2. BAEEIRVY
SE 2T =% 8 HIEE
BB SRR 5
RERE LR
10
DEHE—R
RERE LR
10
DI - BAHEFI—X
) 25
3. H& AKERRIR DY
SE & T =% )8 HIEE
BB PSR EH =F 4
RERE SR
=F 4
DEHEI—R =
RERE SR
DI - A D T4
5 2=F 4




